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1.6 Homework Problems
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000000000 s2=s*0000000

1.6.2 OO0 2
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de* = (d2°,dx',d2?, d2®) = (cdt, dx, dy, dz) (1.5)
dr, = (dzg,dxy,dzs,dxs) = (cdt, —dz, —dy, —dz) (1.6)

OO0DO0000O0bO0oOobo0oboboOooOobOon Bjorken-Drel DODOOODOODOO
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dz,dz" = droda’ + drvidz' + dryda® + drzda® (1.7)
= (cdt)?® — (dv)* — (dy)* — (dz)? (1.8)
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p=0,1,2300000000000000000000000000000000
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(ds)? = (cdt)® — (dz)* — (dy)* — (dz)* = g"dz,dz, (1.9)
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AT 1 Motion == 0.625 £0.013 s /year (7.27)
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00 MOOODOOOODOOOO pr)=Ms(r)0D00000 »r00000 m
Jdooodooooogooog V(r)D
GM
Vi) = ——" (28)
T
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-9 (3-5m). <R
V(r) = (29)
— GMm r>R

r Y
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